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Ring preparations from HBB

Correspondences among genes, proteins, and structures

Figure 7-4 The Edman degradation.
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Figure 7-6 Amino acid analysis.
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Figure 7-6   The reverse-

phase HPLC separation of

OPA-derivatized amino acids.
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Figure 7-7 The amino acid sequence of a polypeptide chain.

Figure 7-8a The generation of the gas phase ions required for the mass

spectrometric analysis of proteins. (a) By electrospray ionization (ESI).

Figure 7-8b The generation of the gas phase ions required for the mass

spectrometric analysis of proteins. (b) By matrix-assisted laser desorption/ionization

(MALDI).
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Figure 7-8c The generation of the gas phase ions required for the mass

spectrometric analysis of proteins. (c) By fast atom bombardment (FAB).
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Figure 7-9 The ESI-MS spectrum of the 16,951-D horse heart

protein apomyoglobin.
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MALDI-TOF mass spectrometry
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Figure 7-10 The use of a tandem mass spectrometer (MS/MS) in amino acid

sequencing.

Figure 7-10 The use of a tandem mass spectrometer (MS/MS) in amino acid

sequencing.

Figure 7-11 The tandem mass spectrum of the doubly charged ion of

the 14-residue human [Glu1]fibrinopeptide B (m/z = 786).

MW=1572
m/z=1572/2=786
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